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have -  travel -  take off -  come down -  be -  cost - carry 
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Go back to the above conversation and find out statements  expressing the following functions:


Asking about price. ( --------------------------------------------------------------


Asking about time. ( --------------------------------------------------------------


Asking about manner. ( -----------------------------------------------------------


Asking about period of time. ( -----------------------------------------------------


Asking for information. ( -----------------------------------------------------------











                  An interview 


A reporter is talking to a director from the Space Hotel Company.  Put the words in brackets in the correct order to complete the questions. (example1 is done)


 Reporter: 1. What will the hotel look like? ( the hotel / will / what/ look like)


Director: Well, it will look like a large bicycle wheel, but inside it will be a normal hotel.


Reporter: 2. -------------------------------------------------------------------? (will / how many / have / rooms / the hotel)


Director: There will be a hundred bedrooms.


Reporter: 3.  ---------------------------------------------------------- to build the hotel? ( it/ take / will / how long)


Director: We think it will take two years.


Reporter: 4. --------------------------------------------------------- at your hotel? (when / arrive / the first tourists/ will)


Director: In the next ten years, we hope.


Reporter: 5.  --------------------------------------------------------? (be / holidays/ expensive / will)


Director: Yes, at first they will.


Reporter:  6. ------------------------------------------------------------? (cost / how much / will / they)


Director: About $60.000 for three days.


Reporter: 7. ------------------------------------------------------ to and from the hotel? ( travel / people / how / will)


Director: At first, we will use the Space Shuttle, but later we will have bigger spaceships.


Reporter: 8. ----------------------------------------------------- special airports? (will/ need / they)


Director: No, they will use normal airports.


Reporter: Thank you.
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Complete the text. Use the verbs in the boxes with will








Where will you go for your next holiday – Spain, Florida? Many people believe that soon we 1 --------------------- holidays in space. A Japanese company has got plans to build a hotel there. The hotel 2 -------------------- like a giant bicycle wheel, but inside it 3 -------------------- like a normal hotel with restaurants, a gym and things like that. It 4 -------------------- a hundred bedrooms. The hotel 5 --------------------- about two years to build. The company believes that the first tourists 6 --------------- at the space hotel in less than ten years from now.








At first people 7 ------------------- to and from the hotel in small spaceships like the American Space Shuttle. 


So holidays at the hotel 8 --------------- expensive. A three-day holiday 9 ------------- about $60.000. But in the future the cost of the holidays 10 ---------------, because we 11 ---------------- larger spaceships. These 12 ------------ up to fifty passengers 13 -------------- and land at airports like normal planes.
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take  (*2)   -   be   - arrive   -    look    -     have
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Professor Jordon doesn’t agree with these statements about transport in the future. Make the sentences negative.





In the future people will have their own cars.             ( In the future people won’t have their own cars.


There will be a lot of traffic jams.                                     ( ------------------------------------------------------------.                     


We will build more roads.                                                   ( ------------------------------------------------------------.


Buses and trains will disappear.                                       ( ------------------------------------------------------------.


We will have electric cars.                                                  ( ------------------------------------------------------------.


Cities will need more car parks.                                       ( ------------------------------------------------------------.
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